ations: TWO POINTS

Name:

Write an equation of the line that passes through the given points.

AV

A J

(-2,3) & (2,7)

(2,2) & (3,4)

(-1,-1) & (1,5)
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7. 8. 9.
(4-1) & (8,0) (=9,5) & (=3,3) (1,2) & (=2,-1)
10} 10k 10}
8 B+ gt
BF Br Br
4 4t 4t
2r 2F 2r
06 6 4 2 | 2 486 810 H08 5 42 | 2 46 810 108 5 42 2 46 810
2l 2t 2t
in in N
B BF B
1 BF Bt
-10\- -1E|"- -10\-
10. 11. 12.
10} 101 o1
8 I S+ 8 i
b I 61+ I i
af af af
2 i 2+ 2 i
-1|Dl-181-181-‘141-121 _| é | i 1 El 181 1110.._ -1IDI-I81-JEI-‘1dI-|2| _| 2| 1 i ! 61 181 |1lD‘._ '10 ,8 E 5 2_ 2 4 E B 10-—
2t 2t 2r
4} 4} 4
B i Bt 6 i
af 8l 8}
o) 0} 10}
13. Describe & correct the error in
writing the equation of the line that e _ & y
slope = —=—=2 2
passes through (—1,-6) & (3,2). run 4 l (3, 2)
The y-intercept < / >
| ¥ P —3-2-1 1/ 3 4 5x
is (0,—4). =1 /
. . —2
The equation is , /l
y=—4x+ 2. |,
=1, _y




